81

1,561

1,537

5.27

Mean
SD.
Min.
Max.

n2

df

1,456

(Chi-square test)



14

15

16

17

18

19

(- 1456)

(= 15)

893

1,45

6

16.48

563

893

16

271

469

427

243

30

Mean = 16.48, SD. =

563

16

14

1.07, Min.

2.1

53

= 14, Max. = 19

469

19



(= 1456)
213
489
316

434

3 1128

3-5 303
6 -8 20
Mcan=

6 1035

1 20

Mean=

54

0.2

1.75, SD. = 1.29, Min. =0, Max. =12

14

0.6

501, SD. = 1.72, Min. = L max. =20

3 ] 128

1035

489



(= 1456)
2
728
99
199
303

1141
152
, ) 162

(= 1456)
1161
205

50.0
8.4
9.7

%%

2.2
50.0
6.8
13.7
21.0
03
01

184
10.4
111

01

9.7
20.3

128
1141
1161



56

()
(= 1456)
| 573 39.4
59 41
V 173 119
1 26.9
62 43
198 136
(= 145)
4 549 377
5 442 30.4
6 465 319
(= 1456)
377 25.9
1078 74.0
1 0.1
4 573
39.4 4 549
3.7 1078

74.0



(= 1456)
182
610
660

1,500
1,500-2,500
2,500

(= 14%)
1414
2
(= 1456)
1203
117
) 13
(= 1456)
457
793
) 205

660 45.3
97.1
82.6
117 8.0

793

125
419
453

03

911
2.9

82.6
8.0
9.3

314
545
141

01

2,500
1,414
1,203

54.5

o7



2.00
2.00 - 2.49
2.50-2.99
3.00- 349
3.50 - 4.00

2.00

244

( )
663
442
214
105
2
8

(= 1456)

B4 (= 1456)

1005
451

542 ( =451)
3
244
17
46

663
1005
2542
5.1

45.5

69.0

2542

455
304
147
1.2
16
05

69.0
310

1.5
54.1
28.2
102

58



1-2
3-4

1.00- 5.59
6.00- 10.59
11.00

55.2
29.9

154

(= 145)
804
150
435
38

( =651)
468
140
83

55.2
103

29.9

2.6
19
0.1

719
215
6.6

59

Mean =214, SD. = 1.27, Min. = 1 Max. = 6

1 ( =651)
491
1%8
22

154
21.2
34

Mean = 4.6286, SD. = 3.1453, Min. = 1.00, Max. = 24.00

1-2
100 - 5.59

468

1

804

435

719

491



3 .
()
(= 145)
1185 814
129 89
3% 2.4
38 26
10 07
/ 10 07
9 0.6
( . ) 39 2.7
1 01
(= 1456)
1370 04.1
( ) & 58
1 0.1
8 1185 81.4
129
89 1370

94.1

60



(= 14%)
1] 1256
] 197

(= 1456)

365
1089

86.3 vn

1089

1256

61

86.3
135
0.2

25.1

74.8
01

4.8



10

345
1101
10

m
669
15
(L1= 1456)
135
4
i
3
11

10
1101 75.6
72

1325

(= 145)

(= 1456)

53.0
91.0
46

23.7
5.6
0.7

53.0
459
10

911
32
2.8
2.3
08

62

3.2



il

il )
1115 76.6 )

8.7
1044

7.0

63

76.6
6.5
81
8.7
01

7.0
49
163
711
01

711



809

40 -
50-

60

40 -
50 -

60

12

49
59

49
59

39

39

1188

61.5

(= 1456)

(= 1456)

12

55.6

( =1456)

81.6

1188
186
81

84
809
342

49
172

81.6
12.8
5.6
01

5.8
55.6
23.5

3.4
11.8

Mean = 46.9, SD. = 5.99, Min. = 34, Max. =

294
896
134

9
123

20.2
61.5
9.2
0.6
8.4

64

73

Mean = 43.04, SD. = 5.05, Min. = 29, Max. = 65

40 -

40 - 49

896



13

0/ ? =

13
604

17
427
604
329

79

39
510
611
228

68

611

65

1.2
29.3
41.5
22.6

5.4

2.7
35.0
42.0
15.7

4.7

42.0



14

(- 1456)

(- 1456)

14
54.9
45.0

37
133
106
799
327

54

459
85
39

655

181
37

66

2.5
9.1
7.3
54.9
22.5
3.7

315
5.8
2.1

45.0

12.4
2.5

799
655



15

5,000
5,000 - 9,999
10,000 - 14,999
15,000 - 20,000

20,000

5,000
5,000 - 9,999
10,000 - 14,999
15,000 - 20,000

20,000

20,000

15

614

20,000

1456

31

31
123
267
283
614
107

358

53
168
228
219
361

69

42.2

361

67

21
21
8.4
18.3
19.4
42.2
73

24.6

3.6
115
15.7
15.0
24.8

4.7

24.8



16

48.8

p< 25¢
p> 25
p> 75(
16
25 28

P< 74

< 28)

>44)

()
359 24.6
> 28  P< 44)
710 18.8
387 26.6

68

Mean = 36.33, SD. = 13.76, Min. = 3, Max. = 95

25

75

75 44
710



10.
11,

12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.

23.

iy

10.0
2.9
111
9.8
10.1

10.6
9.1
11.1
3.4
6.7

34
14
2.4
18
6.0
4.9
2.8
5.2
2.6
14
3.3

3.2
2.6

28.2
177
31.3
33.1
31.7

37.2
25.5
27.5
10.9
21.4

6.5
6.3
9.6
6.1
13.0
16.1
113
14.8
12.8
8.2
118

9.3
12.0

52.6
59.8
51.9
50.7
49.6

45.9
50.5
51.2
54.9
50.8

31.3
33.0
42.6
29.0
29.5
50.9
41.8
38.9
41.2
44.2
39.6

37.9
50.3

69

9.2
19.6
58
6.4
8.7

6.3
148
10.2
30.8
21.2

58.9
59.3
45.4
63.1
514
28.0
44.0
41.2
43.3
46.2
45.3

49.6
35.2



24,
25.

26.

217.
28.
29.
30.
3L
32.
33.

34.
35.
36.
37.
38.
39.
40.

17

88.7

17

36

14

2.4

16
4.1
1.7
Z5
1.2
5.0
3.2

5.8
2.0
6.9
12.8
10.6
8.7
6.7

2.2

3.2

6.6

56

19.8
10.0
10.1
4.6

15.8
15.5

21.7
9.9
26.6
305
13.6
29.8
22.6

2.1

23.1

30.8

32.2
49.6
39.8
35.3
24.5
53.3
56.7

55.5
45.7
46.4
41.6
40.7
53.0
54.7

7.0

40

12.8

37.2

70

72.3

60.1

30.5
26.4
48.5
52.1
69.7
25.9
24.7

17.0
42.4
20.1
151
35.2
8.6

15.9

88.7

59.8



n

2
18
()
() [
563 275 50.1 22.4
893 22.8 179 29.2
1456 24.7 18.9 26.6
X 2= 9498 df=2 P=0.009*
**P<0.01

18

0.01



14
15
16
17
18
19

19

19

16
271
469
427
243

30

1456

X 2= 10.785

313
26.9
23.0
24.4
24.3
33.3
24.7

df=10

16

56.3
49.4
45.8
50.8
50.6
40.0
48.8

72

12.5
23.6
31.1
24.8
25.1
26.7
26.6

P=0374



20

20

213
489
316
434
1452

X 2= 12.012

30.0
21.5
21.2
28.1
24.7

df

6

451
49.5
50.6
48.2
48.7

73

24.9
29.0
28.2
23.7
26.7

P=0.062



21

-5
-8

21

1128
303
20

1453

X 2=2.268

25.2
22.8
25.0

24.6

31.7
10.3

0.8
50.0
48.8

74

20.4
5.8
0.3

50.0

26.6

0 =089



22

6-10
1

22

1035
392
20
1447

x*=2332

24.8
24.2
20.0
24.6

4

41.7
51.5
55.0
48.9

15

()
27.4
24.2
25.0
26.5
p = 0675



23

32
728
99
199
343

1455

X 2= 19458
*P<005

23

0.05

28.1
24.5
16.2
25.6
26.5

24.6

50.0
47.4
47.5
45.7
52.7
100.0
48.8

76

21.9
28.2
36.4
28.6
20.9

26.6

P=003%*



24

1141
152
( , ) 162
1455

X 2= 1.222

24

24.4
23.7
27.8
24.7

df=4

49.3
48.0
46.3
48.8

"7

()
26.4
28.3
25.9
26.5

P=0875



25

1161
295
1456

X 2= 6.014
*P<0.05

25

0.05

2.1
231
24.7

2

18

()
198 252
11 322
188 266
P = 0,049



26

26

79

()

549 2.1 46.8 281
442 242 50.5 25.3
465 24.5 49.5 26.0
1456 24.7 48.8 26.6
x2= 1582 df =+ —(.812



27

3
1078
1455

X 256,254
*P< 005

21

0.0

80

07 538 %5

%1 49 270

24.7 48.7 26.6
df=2 P = 0,044*



81

28

()
()

1,500 182 27 207 A7
1,500-2,500 610 %1 508 281
2,500 660 218 42 289
1452 2456 28 2656

x:= 12310 df=4 P=0015*

*P<005
2 2500

0.05



82

()

1414 245 49.2 26.3
42 286 357 3.7
1456 247 4838 26.6

X2 3137 df=2 P=0.208



30
123 218
117 218
( ) 1% 235
1456 217
X213 df=4

30

494
419
441
48.8

83

25.9
214
324
26.6

P=05%



3l

457
793
(. ) 25
1455

x 2= 5.107

3l

228
25.2
268
24.7

53.0
46.8
46.8
48.7

84

243
280
26.3
26.6

p=0.276



85

32

()
()

2.00 663 22.3 48.7 29.0
2.00-249 447 24.7 495 25.8
2.50-2.59 214 26.2 49.1 24.8
3.00-3.49 105 324 476 20.0
3.50 - 4.00 24 33.3 375 29.2

1448 245 438 26.7
X*= 9,186 4f=8 P=037

32
2.00



2542

33
2542

33

1005
451
1456

x*= 0137

86

()
2456 16 269
248 12 259
247 488 256
df — 0934

2542

2542



34

2542)

4%

34

()
4
204
127
4
451

X 2= 6.681

235
250
244
26.1
248

dfo

38.2
520
449
%3
492

87

38.2
230
0.7
196
259

=0351



88

35
()
() «1

804 248 50.0 25.2
150 07 433 26.0
435 241 471 28.7
38 184 5.3 263
( 1) 21 74 63.0 29.6
1454 24.7 488 265

X2= 10045 df=8 =024

35



1-2
3-4

36

36

468
140

651

x 2= 1354

254
214
25.6
246

46.4
514
46.5
475

89

282
211
219
280

=n={),852



90

37 1
( )
()
()

1.00-5.59 491 259 466 215
6.00- 1059 138 225 500 215
11.00 2 91 500 409
651 246 475 280

X2=4.383 df=4 P=0.357
37 100 -

5.59 1 [



38

(G , ) 39
1455

X 2= 36.755
" P<0.01

38

0.01

26.8
186
171

79
20.0
100

154
24.7

494
46.5
429
395
50.0
60.0
66.7
46.2
48.8

a

Vv
239
349
40.0
526
30.0
30.0
33
385
265

P=0.001*



39

*kn< 0,001

92

()
() V
1370 %56 197 247
3 9.4 U1 56,5
1455 247 188 265
x 2= 43,014 df=2 P = 0,000%*

39

0.001



93

40

()
() 3
] 125 276 502 29
] 197 61 296 543
1453 27 187 %6
x2= 101924 df=2 P = 0.000**

P <0001

40

0.001



94

41
()

()

365 203 411 326
1089 26.2 49.2 246
1454 24.7 48.7 26.6
x 2= 10.659 df=2 P =0.005**

**P<0.01

41

0.01



42

42

()
%5
1101
1446

X2- 3487

249
245
246

o
—n
1

449
50.0
4838

95

0.1
25.5
26.6

p=0175



43
()
, 2
669
1441
X 2= 14461
* P <001

212
28.6
246

df=2

0.01

96

()
488 299
186 229
181 266
P = 0.001%*



44

13%5 5.1
46 239
| 195
3 121

1445 246

X 2= 5.469

44

438
413
537
5.5
488

97

261
48
268
33
266

P=10.485



45

ek < 0,001

X 2= 69.372

216
137
178
134
241

df

6

0.7
4.3
4.8
370
48.1

0.001

98

27
411
364
496
26.6

P=0.000%*



46

1

1 1044
145

X 2= 1343

*P<0.05

46

282
214
260
157
246

6

0.05

419
454
494
510
488

99

239
32
24.6
33
26.6

0 =003



41

1188 %3

186 210

8l 247
1455 247
x2= 1710

4

486
bL1
46.9
488

100

26.2
280
284
265

P=0.778



48

3
40- 49
50-59
60

L8 e

49
1284

X2=2.144

202
24.2
254
265
244

df

464
488
485
510
487

6

40- 49

101

33
26.9
26.0
224
26.9

0= 0,840



49

39
40- 49
50- 59
60

49

x*=5.219

231
246
261
11
243

df

416
485
500
33
484

=6

40 - 49

102

293
269
239
55.6
21.3

P=0.516



50

()
17
a1
604
329
1317

X 2=2.186

3.3
21
247
240
240

df=6

412
508
482
48.0
489

103

235
265
212
280
211

P=0.902



ol

510
611
228
1388

x2=1915

ol

179
255
247
228
245

538
411
438
504
436

104

282
215
265
268
269

p=092



52

0y

37
106
19

320
1402

X 2= 6.989

52

.1
203
236
248
254
245

318
534
491
417
5.3
491

105

324
263
214
215
223
263

~=0.538



53

G 8

1419

X 2= 14.904

53

2.1
24
205
255
28.1
247

%1
482
48.7
456
420
485

106

222
294
08
289
293
268

P =0.061



54

5,000
5,000-9,999
10,000- 14,999
15,000-20,000

20,000

20,000

x2=9.293

226
290
216
21
23
2.1
245

df=10

419
484
308
L7
5.3
493
494

107

3.5
226
325
26.2
254
249
26.2

0 =050



55

5,000
5,000-9,999
10,000-14,999
15,000-20,000

20,000

55
20,000

358
53
168
228
219
361
1387

X 2= 18297

215
24.5
31.0
21.2
20.5
258
24.7

df

10

56.1
47.2
39.9
47.4
49.8
45.7
48.7

108

22.3
28.3
29.2
25.4
29.7
28.5
26.7

0 = 0.050
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